
��������� 	�

 	��	�� � ��	�
�	�� �� ��
 �� ������

�� ��� ���	
�
��
��	�� r =


 2

3
3


 −


 1

1
0


 =


 1

2
3


� �	��	��
�	 p =


 1

1
0


� ��
��
 ��� �� �����

��	������ �
 �		�����	 x = rt + p, t ∈ R � 
 �
 x

y
z


 =


 1

2
3


 t +


 1

1
0


 , t ∈ R

��� �������
 ��� �
 ��
��
� ���	
�
��
��	�� � 
 � n =


 1

2
3


�  ��
�	 �

�!����� ��
�	�
 p ��

0 = n · (x − p) �
� ��

0 =


 1

2
3


 ·





 x

y
z


 −


 −1

0
2





 = x + 2y + 3z − 5

"� ��� 


1 1 1 1 0
2 1 2 1 0
0 3 −1 −1 0
−1 6 −3 −2 0


 ∼




1 1 1 1 0
0 −1 0 −1 0
0 3 −1 −1 0
0 7 −2 −1 0


 ∼




1 1 1 1 0
0 −1 0 −1 0
0 0 −1 −4 0
0 0 −2 −8 0


 ∼




1 1 1 1 0
0 −1 0 −1 0
0 0 −1 −4 0
0 0 0 0 0


 ⇔




x = 4t
y = −t
z = −4t
w = t

��� #�	����� 
� �� !�� �
�� �$�
�
� %�& �
���	 ��	�& Det(K) = 0 �$� ���'���
	��	����
 K�

��� ��� �		 K(4,−1,−4, 1)t = 0(4,−1,−4, 1)t ���	�� %� (4,−1,−4, 1)t �
 ���

��	�� ��� ���

%���
0�

��� Ker(A) %� �$�
�
���
� 	��� ��	 !�����
� ��
�	��
����	���	 Kx = 0 � 
 � Ker(A) %� �$�
�
���
�%
���
 ��
�
 � ��� �
�
�

��� #�	����� 
��	����
� � ����� %� ����

��
� � K ��� 
���� 
�������� ��
�	 �� �$�
�
���%
���
 �

����%		
�
� ���'���
	�� ��� ��������� 
�������
�

(� ���

AtB =


 1 1 1

2 3 2
3 8 2





 10 −6 1

−2 1 0
−7 5 −1


 =


 1 0 0

0 1 0
0 0 1




��� )� AtB = I *

�� 
� �		 I = It = (AtB)t = BtA � 
 � Bt = A−1�

��� det(AB) = det(A)det(B) = det(At)det(B) = det(AtB) = det(I) = 1�

+� ��� ��� �		

A

(
2 1
1 1

)
=


 6 5

−3 −1
4 1


 ⇒ A =


 6 5

−3 −1
4 1


 (

1 −1
−1 2

)
=


 1 4

−2 1
3 −2




��� ,� b �∈ Im(A) � 
 � �� b �= a


 1

−2
3


+ b


 4

1
−2


 ���
�� �$�
�
�� -��	�� ��	���
�� ��	 ����


��	����
� ������ 
�	�����	
�� �
	� � ���
�	 �� ��%

�� ���� -%���� �%��$�

b =


 1

−2
3


 ×


 4

1
−2


 =


 −7

10
9






��� ���& 	� Im(A) %� ���� �		 ���
 ��! ��%

�� �
	� ��� !��� R
3�

.� ��	 u =
−→
AB ��! v =

−→
AC� )� *

�� 
� �		

−→
Aa= v+ 1

2 (u−v) = 1
2 (u+v),

−→
Aa= 1

2u−v ��!
−→
Aa= 1

2v−u�
�������� 
� ����� ��� 
� �		 
� ��� 
���
��	��
�

/� ��� �$��� A �� �		

A

(
32
16

)
=

(
28
12

)
��! A

(
28
12

)
=

(
26
10

)

� 
 � 
� *

�� �		

A =
(

28 26
12 10

) (
32 28
16 12

)−1

=
(

28 26
12 10

)(
12 −28
−16 32

)
1

−64
=

(
5
4

−3
4

1
4

1
4

)

��� ��� �		 
� !�� xn+1 = 5
4xn − 3

4yn ��! yn+1 = 1
4xn + 1

4yn� )�		� ��	���� �		 ������	 x ��
�����

���	�
	 �
 ������	 y ����
 ������	 y ��
����� ����	�
	 �
 ������	 x� 0��	�� ���	� �
���	 ��

�
������ y ��	�
��� ��
�����
& � 
 � ����
�
�

��� -� ���%�
�� ���

%���
 ��! ���

��	���� ��! *

��

v1 =
(

3
1

)
, λ1 = 1 ��! v2 =

(
2
1

)
, λ1 =

1
2
.

��� ����
 �		

(
32
16

)
= 8v1 + 8v2 
����	 ����$� �		

Ak

(
32
16

)
= Ak(8v1 + 8v2) = 8Akv1 + 8Akv2 = 8(1)kv1 + 8(

1
2
)kv2)

)�		� ������ �$� ���� 
�	������ 	�� k �		 �� �		 ����	�
	 
%��� ��! ��

������� ��	 
��	��


8v1 = 8
(

3
1

)
=

(
24
8

)

1� ��� �		 A(x1 + x2) = x2 + x1 = 1 · (x1 + x2) � 
 � �		 x1 + x2 %� �
 ���

��	�� ��� ���

%��� ��
 � ����� �%		 ��� 
� �		 A(x1 − x2) = x2 − x1 = −1 · (x1 − x2) � 
 � �		 x1 − x2 %� �
 ���

��	��
��� ���

%��� ��� 0��	�� %� A �
 ������
� � ��
��
 ��� ���	
�
��
��	�� x1 + x2 � ���	
�
��
 ��
�
 �

x1 − x2� ������
��
 %� ��	���
�� ��� ����%�������	�
 %� 
��� � 
 � ��

0 = (x1 + x2) · (x1 − x2) = |x1|2 − |x2|2.

)� �%
���� %� ����	�
� 	�� ��� 
� �		 ��		� �%���� ������ �� |x1| = |x2|�

"


